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(1—x)y/+y=§f 1+y’ dx
0
PIILR 345 2
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1-x)y’” ’ =z /1+y/

HAME %y (0) = 0,y (0) = 015 B &7 1%
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1 EATTIE
(1) fENTHE: AR ER. RS
(2) HEM
o ) =)
y(xo) = Yo
[ ETWIRES

y/@ﬂzﬂ%“yW@ﬂ=ﬂ%Jmm

Yn+1 =Yn t+ ﬁf(xn: Yn)
HEE/D, BERK

Fb 7 1%
X HREY " = fx, y) ik Mo, B, R
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A
Yne1 =Yn T E [f(xn,yn) + f(xn+1,Yn+1)]
X TRE, HHEX
giau—T:
ik -

yﬂ.,.l =¥nt ﬁf(xn,yn)
RIE:

A
Yn+1 = Yn T 2 [f (xnyn) + f(xn+1yn+1)]
A ILRENR
( Y/
Jyn+1 =Ynt E (Kl + KZ)]
K, = f(xn,yn)
LKZ = f(xn+1,yn + ﬁKl)
FH AT AR o S DU s PRS2
(3) —Mrih s TR B ERE

1A
{y " =f(xy,2),y(x%0) = Yo
z" =g9(x,2),2(x) = 2
S
Vnor = Yn 4 OcnYn, 20)
Zn41 = Zn + A9 (X0, Yn, Zn)
B IE:
Yn+1 = Yn + g Uf CenYns Zn) + f (Xn11 Y, 10 Znea)]
Zn41 = Zp + g [f GenYns Zn) + [ (na1, V10 Znen)]
2 FEFRE
(1) dsolve RN HIE (4D HIBHT#E
HAE

dsolve( 7 F2 110772 2\ 07 R o WIRA S 1 1A )
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gl F2EA4
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R

e
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FHERIN
TR AL
IR (H
FRIMYE

)

iR, FFRE D RORRMY, D2, D3 HRIRREM AT AT D J5
PR RN &, AR AT LR € B RGN 8 ViR .
Wi, oI = ORIk N: D2y=0

WA Z A B T LA

y(0) = 0,y'(0) = 155/~ N'y(0)=0,Dy(0)=15'

1. BFiE

matlab

sol = dsolve(eqn, condl, cond2, ..., 'Name', Value)

ZH 1: —MENSHE

hiE:
dy
= =2y, y(0)=5
5 y, y(0)
MATLAB £#5:
matlab
syms y(t)
eqn = diff(y,t) == -2*y;

cond = y(8) == 5;
sol = dsolve(eqgn, cond)
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NAFAL

AR Y

EJINESZS
E5 2

5ol 4: BIEERRE
HiEA:

dr
g_t =Y,
Wz, 2(0)=1,5(0) =0

MATLAB {3

matlab

syms x(t) y(t)

egnl = diff(x,t) == y;

eqn2 = diff(y,t) == -

condl = x(@) == 1;

cond2 = y(0) == 0;

[x_sol, y_sol] = dsolve(eqgni,

eqn2, condl, cond2)

B3 sk S=1+u? iR,
du

& =1+ u? XWMHIFRIEN Du=1+u"2'

HiNAT 4 dsolve('Du=1+u"2','t")

g5 R: u=tan(Cl +1t)
Bl 4 SRESY 7 R IR
d’y  dy 3
{W +4——+29y =0
y(0) =0,y'(0) = 15
PN

T3 X B )26 I8 N D2y +4* Dy+29%y=0'
IR ZAE X LR IE Ny (0)=0,Dy(0)=15'

H AR MR R TE N
RN S

y=dsolve('D2y+4*Dy+29*y=0','y(0)=0,Dy(0)=15",x)
g R 3%sin(5%x)*exp(-2*x)
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M, 4t
%f b 2
xR

Bl5 SR s RELL .

ax
E—Ex—3y+33
dy _ _ Ea
F—fl-:r by +3z

dz
== 4x -4y +22

fi# AT
[X,y,z]=dsolve('Dx=2%x-3*y+3%7''Dy=4%x-5%y+3%7"'Dz=4%x-4*y+2*7,
't)

g R
x = Cl*exp(-t) + C3*exp(2*t)
y = Cl*exp(-t) + C2*exp(-2*t) + C3*exp(2*t)

z = C2*exp(-2*t) + C3*exp(2*t)

(2) solver SRFFHT TR (A HEUER
Fe A M A [t,x]=solver('f,ts,x0,0ptions)
solver XfJ%i: ode45, ode23, odell3, odel5, sode23s
ode23: HLEM) 2/3 Brutk - FEHE - SR DIRE Bk
ode45: iz A 4/5 Witk - PEXE - SR DA% ik
' BRI T FES A M S 44
ts=[t0,tf]: t0. tf yH R MYMEMLE
x0: BREMIHIE
TER 1 TEMRS n DREE T FRER, x0 fl x #24 n 4El0 &, M
SRR RN L x MBS .
TER 2: 8 H MATLAB ¥ SREME MRS, BB 77 A 05
BB —Br s TR
Bl 6 K S 7 FE R BUE %

dt?

d*x 1000(1 2y 4 =0
( ve )dt X =
x(0)=2,x'(0)=0
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POESE S

T ARE

fi#: % yl=x, y2=yl’
Wk 73 757 FEAE R — B sk o0 T R4

ys'' =1000(1 - y{)ys' — yr°

B Ja AL M 3 vdp1000. m 41
function dy=vdp1000(t,y)
dy=zeros(2,1);

dy(1)=y(2);
dy(2)=1000*(1-y(1)"2)*y(2)-y(1);

end

Fk, H

t0=0, tf=3000, FIAMTL:
FHEF R

[T,Y]=odel5s('vdp1000',[0 3000],[2 0]);

plot(T,Y(:,1),-")
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4R
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[F] 3] %of A
R HE
R

fi#: LM B R R rigid. m AR
function dy=rigid(t,y)
dy=zeros(3,1);
dy(1)=y(2)*y(3);
dy(2)=-y(1)*y(3);
dy(3)=-0.51*y(1)*y(2);
end

FRI 10=0, tf=12, FAmL:

FREFN
[T,Y]=ode45('rigid',[0 12],]0 1 1]);
plot(T,Y(:,1),- . T,Y(:,2), ™, T,Y(:,3),'+)

fJr 19 245 R 0

4. 7 Wygh R

I B B 1R R ) BB A

{(1—96)3// ' =% 1+y’”
y(0)=0,y" (0)=0




L yl=y, y2=yl’, FI5HE 3) WHN—Hrior T4,

yi' =y,
, 1
Y2 =§v1 +y:2/(1—x)

y1(0) =0,y,(0) =0

M X eql. m

function dy=eql(x,y)
dy=zeros(2,1);

dy(1)=y(2);
dy(2)=1/5*sqrt(1+y(1)*2)/(1-x);

end

B x0=0, xf=0. 9999, L ff6. m Ul T:
x0=0; xf=0.9999;
[x,y]=odel5s('eql’,[x0 xf],[0 0]);
plot(x,y(:,1),'b."),hold on

y=0:0.01:2;
plot(1,y,'b*")
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1 2
{(1—x)y’ ’ =< /1+y/

y(0)=0,y" (0)=0
PERY SR i
MR TEHSEES
dsolve(' /5 F& 1,75 F& 2, WIUH 514, H AR &)
BAEM: BROLTEE BRI ek R vESE
[t,x]=solver('f,ts,x0,0ptions)

[t,x]=0de45('f',ts,x0,0ptions)

g, sz
S5 ke R
S S = —psI
5 I'=BSI —yI
DecpSeck R' =yIS(0) = 2,1(0) = 1,R(0) = 0
SRR
N = 1000; % AL

beta=0.3; % JBGLR
gamma=0.1; % kE=X

10=1; % WIUEEGeE
RO =0; % WK E &

SO=N-10-R0;: % WG 5 KE

y0 =[S0; 10; RO]; % #JiA

tspan = [0, 160]; % HJ[A]

h=0.1; % FK

t = tspan(1):h:tspan(2); % 5 [A] & #L

Y = zeros(3, length(t));
Y(:,1) = y0;

%% RK4 72




for 1 = 1:length(t)-1
k1 = sir_deriv(t(i), Y(:,1), beta, gamma, N);
k2 = sir_deriv(t(i)+h/2, Y(:,1) + h/2*k1, beta, gamma, N);
k3 =sir_deriv(t(i)+h/2, Y(:,i) + h/2*k2, beta, gamma, N);
k4 = sir_deriv(t(i)+h, Y(:,1) + h*k3, beta, gamma, N);

Y(,it1) = (i) + (W6)*(k1 + 2%k2 + 2#k3 + kd);

end

figure;

plot(t, Y(1,:), 'r', 'LineWidth', 2); hold on;

plot(t, Y(2,:), b, 'LineWidth', 2);

plot(t, Y(3,:), 'g', 'LineWidth', 2);

xlabel('time");

ylabel('H(&E");

title("SIR #&74");

legend(' 7 /&& (S), "&H#E (D),"EE R));

grid on;

function dydt = sir_deriv(t, y, beta, gamma, N)
S =y(1);
I=y(2);
R=y(3);
dSdt=-beta* S *1/N;
dldt=beta * S * 1/ N - gamma * [;
dRdt = gamma * I,

dydt = [dSdt; dIdt; dRdt];
End
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